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ofleyeny : (1)  mansg ellanrisiennd sflwrs siFsl USeurdl o arargr eremLSEman
sfluriggé Qareratab. sFaludeaiay Gampul@mllea simns
semgrennuurenfiib o Languirs Gasfalsseain.
2) Bed ydeg s@HLY @wullenar wl HGL apgiaushE LWaLHES
Cauair(d. LLMgGET cuenTeusn@ Quendled Lwiem B geid.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Black or Blue ink to write and pencil to draw diagrams.

@ﬂuq 1 @euallenmganer wpreng Ao seners Ceramg).

Note : This question paper contains four sections.

Yifley - I/SECTION -1
{wfUCuamaer @ 15) / (Marks : 15)

G@OlyY @ () @uaflele 2 dmer 15 ellamasEns@h el wellsseab. 15x1=15
(i) Qer@ssLul_(Herer preng e safle Waeayb sflumear eflaLamwus
Camptshss GHMULGrean ellewllenamnyh Gaidsg er(pgs.
Note : (i}  Answer all the 15 questions.

(i) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.

1.  nP(A)]=64 eraflé, n(A) is :

(=1) 6 (<) 8 @) 4 i (m) 5
If n[P(A)] =64, then n(A) is :
(@) 6 (b) 8 () 4 d 5
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a, b, ¢ eraniian g QumpsGs dsTiteauflesula o drarar erafle z:]z =
a ’ b s
(=) 4 (<) @ - ™
If a, b, c are in G. P, then Z: z is equal to :
a b b c
@ 5 ©) = € =< @ 3
Wl X & e m o n . B ; ;
= T g e p Asmfeuflsdan 2pliy - 6@ bz emiy
1 1 1 - 1
(=) 55 () 55 @ 7 (™ 15
The next term of = in th LE N
€ next term 20 in the sequence 5 ’ 5 ’ 12 ’ 20 wrenneenn 18 2
1 1 1 1
@ o b) 55 © 35 @) 75
49(x2 - 2xy+y)? G auirdsepaLd
(=) 7 -y () 7 G-y (@) 7 (x+y)? () 7 (x—y)?
The square root of 49(x2—2xy+13)? is :
(@ 7lx-yl B) 7y (@ 7 (@+y)? (d) 7 @x-y)?
X220 +7 GG x+4 6 auGSEL Gurgy :ﬁ@&)L.S;@L-D B4
(1) 28 (=) 29 (&) 30 . () 31
The remainder when x%—2x+7 is divided by x+4 is :
(@) 28 (b) 29 (© 30 @ 31
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(0, 0), (2, 0), (0, 2) Al yereflsarTad @jenioUyb @é@&ﬁeﬁﬂgﬁﬁﬁr Ly
“(31) 1 s.E (=) 2 5. @Gse

@) 4 s.EGsan | () 8 s.@sar

Area of the triangle formed by the points (0, 0), (2, 0) and (0, 2) is :
(a) 1Sqg. unit (b} 2 Sq. units

(c) 4 Sq. units (d) 85q. units

y=2x+k eramy CridGan( (1, 2) eremy erafl eufls Clesidlenpsy erafled k e Loy

(=) 0 (<=4) 4 @ s () -3

If a straight line y=2x+k passes through the point (1, 2), then the value of k is equal
to:

(@ 0 () 4 () 5 @ -3
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9. uUL&H® PA, PB eranuan el Lgdln@E CeuellGuwarer yarefl P ulledlmbe
aueruliulLg AgrRCsr@ssr. Coaib CD earug Q eamm yeraiuile
alLsHnE Gsrhlar(

PA=8 (5.8, CQ=3 Qz.§ eraflr PC=
(<) 11 Q&b (<) 5 Qe.B @) 24 Qg8 () 38 Qs.5

In the figure, PA and PB are tangents to the circle drawn from an external point P.
Also, CD is a tangent to the circle at Q.

If PA=8 cm and CQ =3 cm then PC is equal to :
(a) 1cm (by 5cm (¢} 24cm (d) 38cm

10. @ augGeaurss éCarambisaien Lssmsafilan eldsb 2:3 aale, Siaupdlar
urduereysaflan alflflzn ‘

(1) 9:4 () 4:9 @ 2:3 (") 3:2

If the sides of two similar triangles are in the ratio 2 : 3, then their areas are in the ratio :
(a) 9:4 (b) 4:9 (¢ 2:3 (dy 3:2
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UL gHd LABC=?

C

100 V3 .8

A 108 B
(=1) 45° (=) 30° @) 60° () 50°
In the adjoining figure ZABC=7?

C

100 V3 m

A 100 m B
(@ 45° (b) - 30° ©) 60° @ 50°
(1+tan?0)sin20 =7
(<=1) sine (<=4) cos?e (@) tan?o (™) cot?e
(1+tan20)sin20="7
(a) sin29 {b) cos?d (c) tan2g (d) cot26
@M Pamo sersGarargdlen el Lib 2 @b erafld @igen Qwrés LUpLILFLY
(=) 12 Q.82 (<=p) 12 7 Q&2 @) 4w Qs (7) 37 Qa2

The total surface area of a solid hemisphere of diameter 2 cm is equal to :
(a) 12 cm? (b) 12 7 em? () 4mcm? (d) 3mcm?

[ A@Liys / Turn over
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14. g 11 Quied cramasailan sllewss euids syraf
(=) V5 (=) VIO @ sz ™ 10

" Variance of the first 11 natural numbers is :

(@@ 5 ‘) V10 € 5v2 @ 10

15. 52 & (sar Qsreaml qm LG5 4O BHs am S06 ThE@D Curgy =i
([ 6 (ace) 6 GO WHMID G GTTETeuns GeaamoalplLgpaTe
Papsaey

(@) = (@) 13 @ M =

A card is drawn from a pack of 52 cards at random. The probability of getting neither
an ace nor a king card is :

2 11 g
@ = ® 1 © = @ 5

\9fley - 11/ SECTION - It
(08 iQLgsser; 20) / (Marks : 20)

OOy : () uss demssEnsg el waflseseib. 10x2=20
) efenr erer 30 &@ s@TRLUrs el@LwelEsab.  PsD
14 sflammssafellppa TCagib 9 clamssmans Csiey Galiweb.
Note : (i) Answer 10 questions.
(i) Question number 30 is compulsory. Select any 9 questions from the first
14 questions. :
16. A={,mn,0,23 47 whybB={253 —2,m,n, o, p} YSHueidilie sarmiseaer
Qeul @, uflrpoil LT 2 @Lwg aeanumg surisseayb.

Verify the commutative property of set intersection for
A={lLmmn 0,23 47 and B={2,5,3, -2, m,n, o, p}.
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5+11+17 +.......+95 eranp sl (g Garflew ampisea srems.

Bifidl his. 5l f thie aiithinets seiies 5T &1 %0395,

ax2—bx+c=0 eTanD @(HUGF FOGTUTL Iy 6l @@r&laeﬁ@h F(Hgar 10, wHmID
Qumsspuen 10 erafléd a wHpb ¢ YFweipdlen wFULsmars STems.

If the sum and product of the roots of the quadratic equation ax2—5x+c=0 are both
equal to 10, then find the valuesof aand c. .

b x+ = 2
x 5
Solve:x-t—l:E'
x B

A bHOID B, ereip Serfls@ns@ AB SlenLdsl Qumdmg. erréd BA
fa_gsuQupelideama eraflédd A wpmib B -e euflenssaperiupil snys.

For the matrices A and B, the product AB ex1sts but BA does not exist. What can you
say about the order of A and B?

A= (? __53 Z], erafier AT opmd (AN & srams.

8 5 2
IfA=(1 L 4], then find AT and (AT)T.

3023
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22. 5x—-2y~9=0, ay+2x—11=0 o dlw Gprra;(%asrr@a;err gearnsCaTeay QFRiGSE
ereilled, ‘@’ -ein whlliaLs STers

Find the value of ‘a’ if the straight lines 5x—2y—9=0 and ay+2x—-11=0 are
perpendicular to each other

23. (2 1), (1, 2) bppd (0, b+1) g dw yeraflser qCr G{n_ﬂ,frés(ﬁarn'_mrsb SHEBDBETE
3 ’ .
5 + = =1 erem Flpioys.

ol =

1 1 .
If the points (a, 1), (1, 2) and (0, b+ 1) are collinear, then show that = s L

o

T .

\/ ,
1 P

uLgde, TP @@ QsrGCaTH, A, B eramuer all_Lgdlear Sgémer Laraflser.
£BTP=72° bihmib ZATB=43° erafles ZABT-8 &refirs.

»

T P

In the figure, TP is a tangent to a circle. A and B are two points on the circle. If
£BTP=72° and ZATB=43" find ZABT.
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26.

27.

28.

29,
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1 1-sing

=1 grem 5.
sin?8 1 - cos’0 Boey

1 - sin6

S PR ;| [ sl il =1.
sin20 1— cosg-

Prove that

safld smisg asslulL @6 gafluraig soryuear 60° Carargamg
ghudssdng. el iy supdmbg 35 & gmsfd o dmearg erafld
gafllen Borgengs sramns.

A ladder leaning against a vertical wall makes an angle of 60° with the ground. The
foot of the ladder is 3.5 m away from the wall. Find the length of the ladder.

M Hemw CpiaiLé sablen Sigssppere; 236 Qa8 OHID BiBET STLWITD
12 Qg8 erafld @mbllen ayenaTUrlgnUS STERTS.

If the circumference of the base of a solid right circular cone is 236 cm and its slant
height is 12 cm, find its curved surface area.

84 @il Bl Lib Garam g Cerataugeu Samo o Gans efi@gdmgen sar

22
DIETENEUSE SHTEHTH (T = 7 CTENS).

Find the volume of a sphere-shaped metalic shot-put having a diameter of 8.4 cm

22
(Take w= 7).

35 QurpLadr eiLkdu Qgrely genhléd 7 Qurplsd Gmpuramiwen.
S505rEUSAmHE G Qurger suamiuy wpepio CaibAs@seh Curg
<ig GepurLbp QurmerTts G@BLushsTar Flapssey wrg ?

There are 7 defective items in a sample of 35 items. Find the probability that an item
chosen at random is non-defective.

3023
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30. (=) R={(a, —=2), (=5 b), (8 ¢), (d, —1)] ereng) FweailF srieus GHl&E0wafld
a, b, c wHmbd d Hweupilen wHismens sTams.
360608
. (<=3) 50 Semaysafiey s IQUAW WL 3.84 £.48)., g oSFe 046 8.4, erafled

Saupdler B8 wALmUE Srems.

(a) I R={(@ —2), (=5, b), (8 c), (d, —1)} represents thé identity function, find the
values of a, b, c and d.
OR

(b) Thelargest of 50 measurements is 3.84 kg. If the range is 0.46 kg., find the smallest
measurement.

19y - 111 / SECTION - III

(LS LQuaTseT : 45) / (Marks : 45)

GOy : () 9 emrésEnsg e welsse)b. - 9x5=45
(i) oferr eram 45 &@ sarqLurs dearwalédsan. Wso
14 clarésafadmbg aCsmib 8 dlamssmens Cairey Qalivayb.
Note : (i) Answer 9 questions.
(ii) Question number 45 is compulsory. Select any 8 questions from the first
14 questions.
31. A=Z\{0}, usAwwhn W(psseT eTens f: A - R (QCwerser), f(x) = B,
X

reA. aram amrunssuu@dpg, afld sridear &fFFd oML
cumslilenansaTans. @FFTIL| @EYSGCETETDIE FITUM 6Tel SnpaLb.

Let A=Z\{0} ie, the set of all non zero integers and f: A — R (the set of real numbers)

be defined by f(x) = M, xeA. Find the range and type of the function. Is it
x

one-to-one ?
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35.

36.
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A={0,1, 2 3} bpmib B={1, 3, 5, 7, 9} eTenruan Q% SeurhiseT erens. f: A - B
eramayld & flx)=2x+1 eren euenpumsbasiLL_(Herarg). @aeridenan
i) euflengs Coamgaaflen sewnd (i) =L euenemr
(i) SILYEGHLLLLD (iv) eueruLb gfueupored @hlés.

Let A={0,1,2,3}and B={1, 3, 5, 7, 9} be two sets. Letf: A — B be a function given by
Ax)=2x+1. Represent this function as :

(i) a set of ordered pairs (i) a table
(iii) an arrow diagram (iv) a graph
64664666+ ......... eranib Ggrflér s n 2 pliyseailer m@sw srems.

Find the sum to n terms of the series 6+ 664666+ .........

srrafliLDSgIs : x3 —5x2 —2x +24

Factorize : x3 —5x2—2x +24
1 -1 ]
A= erafleh AZ—dA +51,=0 eren Hlimiays.

1 -1
If A= [ ] then show that AZ—4A +5I,=0.

[ L& / Turn over
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38.

39.

40.

41.
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x+y=2, x—y=0 LHOb x+2y-6=0 Bdu sLATUTHE@ET LUSSRISATTES
QararL wp&Caramsdlen LTLUeTellamans STams.

Find the area of a triangle whose three sides are having the equations x+y=2, x—y=0
and x+2y—6=0.

A(-2,3), B(a, 5) pPw Lenallamar @anamé@d CrisCsm®, C(0, 5), D(—2,1) pdlw
Lieaflsanam @anemta@in CriaGam (R @enen erafle, a-6 wdlliaus smamrs.

The line joining the points A(—2, 3) and B(a, 5) is parallel to the line joining the points
C(0, 5) and D(—2, 1). Find the value of a.

aELUmpld ADiTEas QeTaryBEEh @M Wramaue &(HOURMmSID
Aar_fee urfmeaus Camliyadmig 1.5 B e wrsda 2 eer gellwsms 30°
gops Ceramgda arardprar pelub Au@EG Ggaiaurss Gsflurgsre
Cprres smbuamsmu Cerad psihg Bar@b Sibs @ellusms 45° THps
Garampded Qsafleurss sramdpren eTafld, Sjeuen BETHS SNTSMSS STHTS.

A student sitting in a classroom sees a picture on the black board at a height of 1.5.m
from the horizontal level of sight. The angle of elevation of the picture is 30°. As the
picture is not clear to him, he moves straight towards the black board and sees the
picture at an angle of elevation 45°. Find the distance moved by the student.

sin + cosecB)2 + (cosd + sech)? = 7 + tan0 + cot?d eran Himieys.
Ju

Prove : (sinf +cosecd)? + (cos® + sec8)? =7 + tan20 + cot?0.

@0 @eoLssar. aigelorear aurafluear Copuyp LHHID SHgUUD RTBGET
wanGu 15 Q&8 whHmb 8 @515 Cogib b 63 te.b aafld, g

2 . ’ ) 22
Qanerererency eN_Lfléd srawms (w= -~

= GTEUTS).

The radii of two circular ends of a frustum-shaped bucket are 15 cm and 8 cm. If its

22
depth is 63 cm, find the capacity of the bucket in litres (Take w= 7).

N
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@M smLrporag 2 meearular Bg miby Gaarhs eugeld 2 d@rarg.
sLrsHlen QLrgs e wrb 13.5 8 wpgb el b 28 15, Cuogib e (haerd
urssden 2w 3 5, arafles s mrgdlen Qurds LpUUTLmUS STams.

A tent is in the shape of a right circular cylinder surmounted by a cone. The total
height and the diameter of the basé are 13.5 m and 28 m, respectively. If the height of
the cylindrical portion is 3 m, find the total surface area of the tent.

=

s n Quie eramsafien S ellawssn \j L eran Hlem95s.

2

Prove that the standard deviation of the first n natural numbers is T

R LS G(HApenn a@l;guu@ﬁmg]. GODHES R 2 (BLLelQTeug) eTeim
5 HenLLiugharen Hapssclaners smeims.

A die is thrown twice. Find the probability that at least one of the two throws comes

" up with the number 5.

(1) @m wiwbs upLuL Cauadrguw Crréfadlmbg 30 HflLb srwgwrsl
ypLul L gl 150 .8 girgdled 2 ater Gemullgang sflwrear Cprsde
QeempedLw Siga@ieoLw apsswre Caussms waflse 25 8.8
s ILRSs GeuamBid erafied, wdlpbdlen cupssiorar Coussmss srams.

2{60608)
() Gsrsyed Cappders eripdl Fipioys.
{a) A carleft 30 minutes later than the scheduled time. In order to reach its destination

150 km away in time, it has to increase its speed by 25 km/hr from its usual
speed. Find its usual speed. i

OR
(b) State and prove Pythagoras theorem.

[ pLiya / Turn over
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9fley - IV / SECTION - IV

(HOQuenraer : 20) / (Marks : 20)

@ouy : @alearm ddameilgid edrar Qran® wrpm SamssafledmHg @
eflamraneus Caibshss B elamss@ra@h el wellEsad.  2x10=20

Note : Answer both the questions choosing either of the alternatives.

46. (=) PQ=5.5 Q&.15, QR=4.5 G&..5, ZQPR=45° whmib PS=3 Q&.5 <= dw
Sjereysar Qararr el L Brosrd PORS euars.

LD

(<) AB=6 Q&.18, 2C=40° wpmb 2 &8 C 9elmbH AB &@ euanruiliuiL
@5816CaT g.an Hard 4.2 Qg5 Qarem_ AABC euers.

(a). Construct a cyclic quadrilateral PQRS such that PQ=5.5 lcm, QR=4.5 cm,
ZQPR=45° and PS=3 cm.
OR

(b) Construct a AABC such that AB=6 cm, ZC=40° and the altitude from C to AB
is of length 4.2 cm.

47. (1) auenruLLD e Siés : 2x2+x—6=0

S|6060F)

()| * 113|578
216 (10|14 |16

eranm S euanamruie o drer eflauysAHEG uaMrULLD ueThE!, ige
fpaLd

(i) x=4erafled y-an wHlMUS FTETS.

(i) y=12 erafléd x-e WHUMLS ST,
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(a) Solve graphically 2x2+x—6=0
OR
(b) For the table

x|1]13|5]|7]8
yvi2]|e6l10]14]16

Draw the graph and find :
(i) thevalueofyifx=4
(i) the value of x if y=12

-00o0-



